
(q + q−1)2 −

1

3

2

3q(q + q−1) + 3q2(q + q−1)2 − q3(q + q−1)3

q(q+q−1)

V {1}
100

◦
d1?0

//

◦

HHHHHHHH

d10?
$$HHHHHHHH

OO

+ ⊕

q2(q+q−1)2

V ⊗2{2}
110 that’s a

cobordism!

d11?

$$IIIIIIIIIIIIIIIIII

OO

+ ⊕

(q+q−1)2

V ⊗2

000

d?00

;;vvvvvvvvvvvvvvvvv

d0?0

//

d00?

##HHHHHHHHHHHHHHHHH

g
o

u
p

fo
r

K
a
u
ff
m

a
n
/
J
o
n
e
s

OO

g
o

d
o
w

n
fo

r
K

h
o
v
a
n
o
v

²²

q(q+q−1)

V {1}
010

d?10

::vvvvvvvvvvvvvvvvv

◦

d01?
$$HHHHHHHHHHHHHHHHH

+ ⊕

q2(q+q−1)2

V ⊗2{2}
101

◦
d1?1

//

+ ⊕

q3(q+q−1)3

V ⊗3{3}
111

OO

²²

q(q+q−1)

V {1}
001

vvvvvvvv

d?01

::vvvvvvvv

d0?1

//

²²

q2(q+q−1)2

V ⊗2{2}
011

d?11

::uuuuuuuuuuuuuuuuuu

²²[[
&

]]0 d0
// [[&]]1 d1

// [[&]]2 d2
// [[&]]3

P
|ξ|=0

(−1)ξdξ

²²

P
|ξ|=1

(−1)ξdξ

²²

P
|ξ|=2

(−1)ξdξ

²²


